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QUESTION BOOKLET 

 

This question paper contains 170 questions. /     170    
All questions are compulsory.      
One question carries half mark only.          
Maximum Marks : 85     85 
Time : 2 Hours     2  
 

1. In which of the following substances, resistance decreases with the increase 
of temperature ? 

 (A) Carbon (B) Constantan (C) Copper (D) Silver 
      ,         ? 
 (A)  (B)  (C)  (D)  

 

2. A wire has resistance of 10 . It is stretched by one-tenth of its original 
length, then its resistance will be 

     10         1
10       

   
 (A) 10         (B) 12.1  (C) 9  (D) 11   

 

3. A cell of negligible resistance and emf 2 volts is connected to series 
combination of 2, 3 & 5 ohms. The potential difference in volts between the 
terminals of 3  resistance will be 

        emf 2    2, 3  5      
   3         

 (A) 0.6 V (B) 2/3 V (C) 3 V      (D) 6 V 

 

4. A primary cell has an emf of 1.5V. When short circuited, it gives a current 
of 3A. The internal resistance of the cell is 

     emf 1.5 V         3A    
        

 (A) 4.5  (B) 2  (C) 0.5        (D) 
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5. Two electric bulbs rated p1 watt , V volt and P2 watt V volt are connected in 
series across V volt. The total power consumed is 

       , P1 , V   P2  V   V   
           

 (A) P1 + P2 (B) P1 + P2 (C) P1 + P2/2 (D) Pl.P2/P1 + P2 

 

6. Two identical heaters each marked 100 W, 250 V are placed in series and 
connected to 250 V supply. Their combined rate of heating is 

         100 W, 250 V       250 V 
           

 (A) 500 W (B) 2000 W (C) 1000 W     (D) 250 W 
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7. The capacitance of a parallel plate capacitor does not depend upon 
 (A) area of plates   (B) medium between plates  
 (C) separation between plates (D) metal of plates 
              
 (A)      (B)      
 (C)      (D)    
 

8. When the relative permeability of material is much greater than 1, it is called 
 (A) diamagnetic material  (B) paramagnetic material  
 (C) ferromagnetic material  (D) None of these 
      1      ,     – 
 (A)    (B)   
 (C)    (D)      

 

9. The relative permeability of a material is 0.9998 . It is 
 (A) diamagnetic material  (B) paramagnetic material 
  (C) ferromagnetic material  (D) None of these 
      0.9998     – 
 (A)    (B)   
 (C)    (D)      

 

10. One WEBER is equal to 
  WEBER  ,  
 (A) 106 lines  (B) 4 10–7 lines (C) 1012 lines (D) 108 lines 

 

11. The SI unit of reluctance is 
   SI   – 
 (A) AT/Wb  (B) AT/m    (C) AT  (D) N/Wb  

 

12. A 2cm long coil has 10 turns and carries a current of 750mA. Two 
magnetising force of the coil is 

       10     750 mA       
       

 (A) 225 AT/m    (B) 675 AT/m   (C) 450 AT/m    (D) 375 AT/m  

 

13. If the number of turns of a coil is increased, its reluctance  
 (A) remains the same   (B) is increased    
 (C) is decreased    (D) None of these 
              
 (A)       (B)     
 (C)       (D)      

 

14. The internal resistance of lead acid battery is mainly due to 
 (A) positive plates   (B) negative plates 
 (C) Both positive and negative plates (D) electrolyte 
       :     – 
 (A)     (B)   
 (C)      (D) - 
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15. A 100V peak AC is as effective as ______ dc.  
 (A) 100 V (B) 50 V (C) 70.7 V (D) None of these  
  100 V  AC       ______ dc.  
 (A) 100 V (B) 50 V (C) 70.7 V (D)      

 

16. The form factor of a sinusoidal wave is  
        – 
 (A) l.414 (B) 1.11 (C) 2 (D) 1.5 

 

17. In a series L-C-R circuit the voltage across R, L & C are 40V, 50V & 20V 
respectively. The voltage of applied source is 

   L-C-R   R, L  C   40 V, 50 V  20 V    
     – 

 (A) 110 V  (B) 10 V (C) 50 V (D) 70 V 

 

18. For addition or subtraction of phasors, we use which form ? 
 (A) Polar   (B) Rectangular 
 (C) Trignometrical  (D) None of these 
      ,        ? 
 (A)  (B)  (C)  (D)     

 

19. The impedance of a circuit is 10 . If the inductive susceptance is 1 S, then 
inductive resistance of each phase is 

 (A) 10  (B) 1  (C) 100  (D) None of these 
     10       1 S ,      

   – 
 (A) 10  (B) 1  (C) 100  (D)     

 

20. The resistance between any two terminals of a balanced star connected load 
12 . The resistance of each phase is 

 (A) 12  (B) 24  (C) 6  (D) None of these 
            12       

   – 
 (A) 12  (B) 24  (C) 6  (D)     

 

21. A 3 phase load is balanced if all the three phases have to  same 
 (A) impedance      (B) power factor   
  (C) impedance & power factor (D) None of these 
             – 
 (A)    (B)   
  (C)      (D)     

22. The pointer of an indicating instrument is generally made of  
 (A) copper (B) aluminium (C) silver (D) soft steel 
           – 
 (A)  (B)  (C)  (D)   

23. Permanent magnet moving coil instrument can be used for 
 (A) a. c. work only  (B) d.c. work only     
 (C) Both a.c. & d.c. work (D) None of these 
              – 
 (A)  a.c.    (B)  d.c.    
 (C) a.c.  d.c.     (D)     
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24. Shunts are generally made of 
 (A) copper  (B) aluminium  (C) silver (D) manganin 
      – 
 (A)  (B)  (C)  (D)  

 

25. A moving coil instrument having meter resistance of 5 . is to be used as a 
voltmeter of range 0-100 V. If the full scale deflecion current is 10 mA, then 
required series resistance is 

 (A) 20  (B) 1000  (C) 9995  (D) None of these 
        5    0 – 100 V       

            10 mA,      – 
 (A) 20  (B) 1000  (C) 9995  (D)     

 

26. An oven takes16A at 220 V. It is desired to reduce the current to 12A. The 
value of resistance will be 

   220 V  16 A         12 A      
   – 

 (A) 4.58  (B) 6.2  (C) 7.1  (D) 10  

 

27. When source deliver maximum power to the load, the efficiency will be 
 (A) maximum  (B) below 50% (C) above 50% (D) 50% 
  ,      ,     
 (A)  (B) 50%   (C) 50%   (D) 50% 

 

28. The electrolyte used in Nickel-Iron battery is 
 (A) H2SO4 (B) K(OH)2 (C) NaCl (D) None of these 
 -      -   
 (A) H2SO4 (B) K(OH)2 (C) NaCl (D)     

 

29. M.M.F is analogous to 
 (A) electric current in electric circuit (B) current density in conductor 
 (C) electromotive force (D) voltage 
 M.M.F.     
 (A)      (B)     
 (C)      (D)  

 

30. A 1 Henry inductance carrying a current, if 3A will store energy of 
 3 A       1       
 (A) 3 Watts  (B) 9 Watt-sec (C) 3 Joules (D) 9 Watts  

 

31. If frequency of power supply is 60Hz, the time period of one cycle will be 
      60 Hz ,        
 (A) 0.02 s (B) 20 ms (C) 16.67 ms (D) 0.1667 s 

 

32. The power dissipated in pure capacitance of an R-C series circuit will be 
 (A) zero   (B) small 
 (C) higher than dissipated in resistance (D) equal to dissipated in resistance 
  R-C          – 
 (A)    (B)  
 (C)      (D)     
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33. A three-phase load is said to be a balanced load, if all the three phases have same 
 (A) impedances      (B) power factor      
 (C) Both (A) and (B)  (D) None of these 
         ,        
 (A)     (B)   
 (C)  (A)  (B)  (D)     

 

34. The maximum permissible operating temperature of class-E insulating material is 
 -E         – 
 (A) 130 °C      (B) 180 °C     (C) 120 °C     (D) 105 °C  

 

35. The emf induced in the secondary winding of a 50 Hz single-phase 
transformer having 1000 turns on its secondary is 222 V. The maximum flux 
density in the core is 0.1Wb/m2. The cross-sectional area of the core is 

  50 Hz       1000  ,     
 emf 222 V        0.1Wb/m2     -
   – 

 (A) 0.1 m2 (B) 0.01 m2 (C) 1 m2 (D) 0.001 m2
 

 

36. A transformer when supplying a load maintained 11 KV across load 
terminals. When the load was switched off, the terminal voltage became 
11550V.What is the voltage regulation at this load ? 

       ,     11 kV       
            11550 V       
    ? 

 (A) 11.55% (B) 5.5%  (C) 5%  (D) 55% 

 

37. The slip of 400V, 3-phase, 4 pole induction motor when rotating at 1440 
rpm is 

  400 V, 3-, 4     1440 rpm     ,    
 (A) 2% (B) 3% (C) 4% (D) 5%  

 

38. The phenomenon of squirrel cage motors sometimes showing a tendency to 
run at a very low speed is known as 

 (A) cogging (B) crawling (C) damping (D) skewing 
   -      ,    – 
 (A)  (B)  (C)  (D)  

 

39. The speed of revolving field for a 50 Hz, 8 pole machine will be 
  50 Hz, 8          
 (A) 1500 rpm (B) 1440 rpm (C) 1000 rpm (D) 750 rpm 

 

40. The speed regulation of a synchronous motor is 
 (A) unity       (B) zero      
 (C) infinity        (D) always less than one 
        – 
 (A)  (B)   (C)  (D)     
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41. Armature reaction in an electrical machine is the effect of 
 (A) Armature flux on the main field flux 
 (B) Heat produced on the armature winding 
 (C) Armature currents on the output 
 (D) Armature flux on the output 
          – 
 (A)        (B)      
 (C)       (D)      

 

42. Distribution factor for a winding having 3 slots/pole phase and slot angle of 
20° is 

    3 /      20° ,     – 
 (A) 0.96     (B) 1.0 (C) 0.5 (D) 0.707 

 

43. In a single phase repulsion motor, torque is developed on the rotor when 
Brush axis is fixed 

 (A) in alignment with the stator field axis 
 (B) at an acute angle with the stator field axis 
 (C) at 90° electrical with the stator field axis 
 (D) at 90° mechanical with the stator field axis  
                    
 (A)       (B)        
 (C)     90°   (D)     90°   

 

44. Which motor is used for blowers ?  
 (A) DC compound motor (B) DC shunt motor  
 (C) DC series motor   (D) Squirrel cage motor  
          
 (A) DC     (B) DC    
 (C) DC    (D)    

 

45. A solid angle is expressed in terms of  
 (A) Radians        (B) degrees     
 (C) Radian per metre     (D) Steradians  
       ,   
 (A)      (B)  (C) /  (D)  

 

46. In direct heating method, maximum heat transfer takes place by   
 (A) conduction    (B) convection     (C) radiation       (D) None of these  
             
 (A)  (B)  (C)  (D)      

 

47. Chemical equivalent of a substance is defined as  
 (A) atomic weight  valency       (B) atomic weight/ valency 
  (C) valency /atomic weight        (D) All of these 
             
 (A)     (B)  /  
  (C) /   (D)   
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48. Ammonia is preferred as refrigerant in large commercial installation because 
 (A) it is relatively cheap  (B) it is non-toxic  
 (C) it has low working pressure        (D) All of these 
                 
 (A)       (B)      
 (C)          (D)    

 

49. The direct current system employed for tramways operates on  
             
 (A) 3000 V (B) 1500 V (C) 750 V (D) 440 V 

 

50. An energy meter utilizes _______ damping. 
 (A) friction (B) eddy currents (C) fluid friction (D) None of these 
       _______    
 (A)  (B)    (C)   (D)     

 

51. Electrostatic voltmeters are used to measure voltage across  
  (A) resistor      (B) inductor      (C) capacitor       (D) None of these 
      ,     – 
  (A)  (B)  (C)   (D)     

 

52. The speed error of the energy meter is corrected by adjusting the position of 
______ magnet. 

 (A) series magnet (B) shunt magnet (C) brake magnet (D) None of these 
           ______       
 (A)   (B)   (C)   (D)     

 

53. A Synchroscope is used to _______ an alternator with bus bar. 
 (A) optical        (B) displacement (C) resistance (D) None of these 
           _______      
 (A)    (B)  (C)  (D)     

 

54. Photovoltaic cell is an/a _________ transducer. 
 (A) optical  (B) displacement (C) resistance (D) None of these 
      _________   
 (A)    (B)  (C)  (D)     

 

55. Heat sinks are used in power amplifier circuits 
 (A) to increase the output power 
 (B) to reduce the heat losses in the transistor 
 (C) to increase the power gain of the power amplifier 
 (D) to increase the collector dissipation rating of the transistor 
            
 (A)        
 (B)          
 (C)          
 (D)           
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56. The most essential condition for parallel operation of two 1-phase 
transformers is that they should have the same 

 (A) kVA rating      (B) percentage impedance     
 (C) polarity        (D) voltage ratio 
  1-                
 (A) kVA   (B)   (C)  (D)    

 

57. The principle of dynamically induced e.m.f. is utilised in 
 (A) transformer (B) choke  (C) generator (D) thermocouple 
   e.m.f.       – 
 (A)  (B)  (C)   (D)   

 

58. The rotor of a 4-pole ac generator is wound with 200 turns coil. If the flux 
per pole is 5 mwb and the rotor runs at a speed of 1500 rpm, the rms value 
of the induced voltage for this ac generator is nearly 

  4- ac       200          
 5 mWb    1500 rpm     ,  ac    
  rms    

 (A) 140 V (B) 157 V (C) 164 V (D) 200 V 

 

59. A 10 pole, 25 Hz alternator is directly coupled to and is driven by 60 Hz 
synchronous motor. What is the number of poles for the synchronous motor ? 

  10 , 25 Hz  60 Hz          
      ? 

 (A) 48 (B) 12 (C) 24 (D) 16 

 

60. Which of the following motors is not a synchronous motor? 
 (A) Hysteresis (B) Repulsion  (C) Induction     (D) Reluctance 
         ? 
 (A)  (B)  (C)  (D)  

 

61. The rotor of a stepper motor has 
 (A) no winding (B) no commutator (C)  no brushes   (D) All of these 
       – 
 (A)   (B)      (C)   (D)    

 

62. Which of the following starting methods cannot be used for starting a                
3-phase squirrel cage induction motor ? 

 (A) star-delta      (B) auto-transformer 
      (C) rotor-resistance    (D) line resistance  

        3-          
     ? 

 (A) - (B) - (C) - (D)   

 

63. Linear induction motor is used in 
 (A) traction       (B) magnetic attraction 
   (C) mechanical workshops      (D) textile mills 
         – 
 (A)     (B)    
 (C)     (D)     
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64. The value of capacitor for a capacitor start IM is determined by 
 (A) Speed (B) Efficiency  (C) Starting torque (D) Power factor 
       IM           
 (A)  (B)   (C)    (D)    

65. A solar cell is a ____ transducer. 
 (A) Photovoltaic       (B) Photo emissive 
     (C) Photoconductive      (D) Photoresistive 
     ____   
 (A)   (B)   (C)   (D)  

66. The value of load factor should be ____ for more saving in electrical energy. 
 (A) high  (B) low      (C) 0.5         (D) None of these 
            ____      
 (A)   (B)   (C) 0.5         (D)     

67. Load factor can be improved by which of the following ?   
 (A) Reducing the peak load demand 
 (B) Increasing the peak load demand 
 (C) By arranging the work schedules to reduce the peak load by shifting 

electrical use to other time periods 
 (D) Both (A) and (C) 
           ?   
 (A)        
 (B)       
 (C)                    
 (D)  (A)  (C) 

68. Which of the following is the characteristic of amorphous core transformers ?   
 (A) Low resistance  (B) Low coercivity 
 (C) Low magnetostriction (D) All of these 
           ?   
 (A)      (B)   
 (C)     (D)     

69. N no. of traditional bulbs are replaced by LEDs in a building. The cost of 
each LED is P rupees. The saving in energy by using LEDs is X units per 
annum. The tariff rate is T rupees per unit. What is the payback period ? 

    N      LED      LED   P 
   LED        X      T    
       ? 

 (A) XT/NP  (B) NT/XT (C) XP/NT           (D) NP/XT  

70. Which of the following methods can be used for power factor improvement ? 
 (A) Replacement of under loaded motors with motors of lower ratings 
 (B) Installations of capacitors 
 (C) Restricting no load operation of motors 
 (D) All of these 
                  ? 
 (A)           (B)   
 (C)          (D)     
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71. An ac voltage can be converted into a unidirectional voltage by using 
 (A) a power amplifier circuit  (B) A multivibrator circuit 
    (C) an oscillator circuit      (D) a rectifier circuit 
     ac          – 
 (A)     (B)   
    (C)      (D)    

 

72. An ideal current source is one whose internal resistance is 
 (A) very high       (B) zero       (C) very low       (D) infinite 
           – 
 (A)    (B)   (C)    (D)   

 

73. Avalanche breakdown in a semiconductor diode occurs when 
 (A) forward current exceeds a certain value 
 (B) reverse bias exceeds a certain value 
 (C) forward bias exceeds a certain value 
 (D) the potential barrier is reduced to zero 
           
 (A)           
 (B)            
 (C)            
 (D)           

 

74. The input and output signals of a common-emitter amplifier are 
  (A) always equal      (B) out of phase   
    (C) always negative       (D) in phase  
            – 
  (A)    (B)        (C)   (D)    

 

75. In a amplifier, the coupling capacitors are used 
 (A) to control the output  
      (B) to match the impedances 
     (C) to limit the band width  
   (D) to prevent dc missing with input or output 
   ,       – 
 (A)        
 (B)       
    (C)          
 (D) dc             

 

76. One of the effects of negative feedback in amplifiers is to  
 (A) increase the noise   (B) increase the harmonic distortion 
  (C) decrease the bandwidth       (D) decrease the harmonic distortion 
         – 
 (A)       (B)      
  (C)      (D)     
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77. The negative feedback in amplifier 
  (A) reduces the voltage gain 
     (B) increase the voltage gain 
 (C) does not effect the voltage gain 
 (D) can convert it into an oscillator if the amount of feedback is sufficient  
     – 
  (A)        
     (B)      
 (C)        
 (D)                  

78. To generate 1 M Hz signal, the most suitable circuit is 
 (A) Wein bridge oscillator     (B) phase shift oscillator 
    (C) colpitts oscillator   (D) None of these 
 1 M Hz     ,     – 
 (A)      (B)     
    (C)     (D)     

79. The attenuator in a signal generator is used to 
 (A) provide an external shunt across the output 
 (B) vary the output impedance of the oscillator 
 (C) increase the frequency of output voltage 
 (D) vary the output voltage amplitude in steps 
         – 
 (A)        (B)        
 (C)       (D)        

80. A gate is enabled with when its enable input is at logic 1. The gate is 
 (A) OR  (B) NAND      (C) NOR (D) None of the above 
           1       
 (A) OR  (B) NAND       (C) NOR (D)      

81. The maximum number of 3-input gate in a 16 pin 1C will be 
  16  IC  3-       
 (A) 2 (B) 3 (C) 4 (D) 5 

82. HTL is a modified form of 
 HTL      
 (A) CMOS (B) NMOS (C) TTL (D) DTL  

83. The radix of hexadecimal number system is 
        – 
 (A) 2 (B) 4 (C) 8 (D) 16 

84. The octal equivalent of the Binary number 11010111 is 
   11010111      
 (A) 656 (B) 327 (C) 653 (D) D7  

85. Universal Register 
 (A) accepts serial input  (B) accepts parallel input   
     (C) gives serial and parallel outputs (D) is capable of all of the above 
    
 (A)        (B)        
     (C)         (D)         
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86. A ring-counter consists of five FLIP-FLOPS will have 
      FLIP-FLOPS ,   
 (A) 5 states       (B) 10 states    
   (C) 32 states       (D) infinite states /   

 

87. A memory has 16-bit address bus. The number of locations in this memory are 
    16              
 (A) 16  (B) 32 (C) 1024 (D) 65536 

 

88. A memory in which the contents get erased when power failure occurs is 
        -     
 (A) RAM (B) EAROM  (C) PROM (D) ROM  

 

89. The instruction set of a P 
 (A) is specified by the manufactures  (B) is specified by the user 
 (C) can be changed by the user  (D) is stored inside the P 
  P    
 (A)          (B)           
 (C)         (D) P        

 

90. The number of interrupts in 8085 P is 
 8085 P      – 
 (A)   0  (B) 1 (C) 3  (D) 5 

 

91. Out of the following which one is not unconventional source of energy ? 
 (A) Tidal power   (B) Geothermal energy      
 (C) Nuclear energy       (D) Wind energy 
          -    ? 
 (A)   (B)    (C)   (D)   
 

92. Cost of operation of which plant is least ? 
 (A) Gas turbine plant       (B) Thermal power plant  
   (C) Nuclear power plant (D) Hydro electric power plant 
          ? 
 (A)     (B)    
   (C)      (D)     

 

93. A Francis turbine is 
 (A) Inward flow reaction turbine (B) Inward flow impulse turbine 
 (C) Outward flow reaction turbine   (D) Outward flow impulse turbine 
     – 
 (A)     (B)     
 (C)     (D)      

 

94. Load factor during a period is 
 (A) Average load/ Installed capacity  (B) Average load/ Maximum load 
 (C) Maximum load/ Average load  (D) Maximum load/ Installed capacity 
        
 (A)  /    (B)  /   
 (C)  /   (D)  /    
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95. Identify the incorrect relation. 
 (A) Power factor = kW/kVA  (B) kW = kVA  Power factor 
 (C) kVA  kW = Power factor (D) kVA = kW / Power factor 
        : 
 (A)   = kW/kVA  (B) kW = kVA    
 (C) kVA  kW =   (D) kVA = kW /   

 

96. A diesel power plant is best suited as 
 (A) Base load plant        (B) Stand by plant  
 (C) Peak load plant   (D) General purpose plant 
            
 (A)     (B)    
 (C)       (D)    

 

97. In overload transmission lines, the effect of capacitance can be neglected 
when the length of the line is less than 

      ,            
      

 (A) 200 km  (B) 160 km (C) 100 km (D) 80 km 

 

98. Presence of ozone as a result of corona is harmful because 
 (A) It gives bad odour    (B) It corrodes the material 
      (C) It transfers energy to the ground  (D) reduces power factor 
    ,         
 (A)        (B)         
      (C)           (D)          

 

99.  ACSR conductor implies 
 (A) All conductors surface treated     (B) Aluminium conductor steel reinforced 
 (C) Anode current sinusoidally run (D) Anodized core smooth run 
 ACSR      
 (A)       
     (B)       
 (C)      
 (D)       

 

100. Ten discs usually suggest that the transmission line voltage is 
           – 
  (A) 11 kV  (B) 33 kV  (C) 66 kV (D) 132 kV  

 

101. Isolators are used to disconnect the circuit when 
 (A) Line is on full load     (B) Line is energized  
   (C) Circuit breaker is not open (D) There is no current in the line 
               
 (A)        (B)      
   (C)        (D)        
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102. The sag of the conductors of the transmission line is 1.5 m when the span is 100 
m. Now if the height of the supporting towers is increased by 20%, the sag will 

 (A) Increase by 20%       (B) Increase by 10 % 
    (C) Reduce by 20%  (D) Remain unchanged 
        1.5 m     100 m      

    20%         
 (A) 20%           (B) 10 %    
    (C) 20%      (D)      

 

103. Dielectric hysteresis loss in a cable varies as 
 (A) Voltage (B) (Voltage)2 (C) (Voltage)3/2 (D) (Voltage)3 
              
 (A)  (B) ()2 (C) ()3/2 (D) ()3

 

 

104. SF6   gas 
 SF6   
 (A) Sulphur Fluoride  (B) Sulphur di fluoride 
 (C) Sulphur Hexa Fluorine (D) Sulphur Hexa Fluoride  

 

105. Which of the following contact point metals has the highest melting point ?   
 (A) Silver     (B) Tungsten    (C) Gold    (D) Copper 
           ?   
 (A)  (B)  (C)  (D)  

106. The basic function of circuit breaker is to 
 (A) Produce the arc  (B) Ionize the surrounding air 
 (C) Transmit voltage by arcing (D) Extinguish the arc 
       – 
 (A)     (B) -     
 (C)      (D)      

107. Unit of solid angle is 
 (A) Solid angle (B) Radian (C) Steradian (D) Candela 
       
 (A)   (B)  (C)  (D)  

108. Which locomotive has the highest operational availability ? 
 (A) Diesel      (B) Electric   
 (C) Steam    (D) All has the same availability. 
        ? 
 (A)     (B)    
 (C)    (D)        

109. In gas welding the gases used are 
          
 (A) Oxygen and Nitrogen      (B) Argon and Helium    
 (C) Helium and Carbon dioxide (D) Acetylene and Oxygen  
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110. Eyes of welding operator must be protected against 
 (A) Ultraviolet radiations    (B) Infrared radiations 
    (C) Both (A) and (B)   (D) Solar radiations 
          – 
 (A)    (B)   
    (C)  (A)  (B)   (D)   

 

111. Flux used in TIG welding is 
 (A) Ammonium chloride      (B) Borax 
      (C) Ash       (D) None of these 

 TIG          
 (A)     (B)         (C)       (D)     

 

112. Which method is appropriate for heating non-ferrous metals ? 
            
 (A) Dielectric heating     (B) Radiant heating  
    (C) Indirect arc heating  (D) Indirect resistance Eating  

 

113. Piezoelectric materials serve as a source of 
 (A) Microwaves        (B) Ultrasonic waves  
    (C) Musical waves      (D) Resonant waves 
          – 
 (A)   (B)      (C)    (D)    

 

114. Bronze is an alloy of 
 (A) Copper and Zinc      (B) Copper, Zinc and Tin   
    (C) Copper, Lead and Tin (D) Copper and Tin 
 ,   – 
 (A)       (B) ,    
    (C) ,     (D)    

 

115. The unit of retentivity is 
 (A) Weber   (B) Weber metre (C) Weber/Metre (D) Weber/Metre2 
     – 
 (A)    (B)    (C) / (D) /2

 

116. Which of the following is a Diamagnetic substance ? 
 (A) Zinc (B) Calcium (C) Beryllium (D) All of these 
        ? 
 (A)  (B)  (C)  (D)    

117. Earth tester is type of meter 
 (A) Voltmeter     (B) Ohm meter    (C) Ammeter     (D) Frequency meter 
         
 (A)    (B)    (C)  (D)    

118. Which of the following properties of refrigerant is undesirable  ? 
 (A) High critical temperature     (B) Low specific heat of liquid 
 (C) High boiling point   (D) Low specific volume of vapour 
          ? 
 (A)     (B)      
 (C)      (D)       
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119. If d is the distance of a surface from a source, the illumination upon the 
surface will vary as 

       d ,        
 (A) d (B) d2 (C) 1/d (D) 1/d2

 

 

120. A merz prize protection is suitable for 
 (A) Transformers      (B) Alternators        
 (C) Feeders        (D) Transmission lines 
        
 (A)   (B)   (C)   (D)   

 

121. Total number of Municipal Corporation in H.P. is 
 (A) 1 (B) 2 (C) 3 (D) None of these 
 ..       
 (A) 1 (B) 2 (C) 3 (D)     

 

122. Sex-ratio of H.P. as per census 2011 is 
 2011     ..      
 (A) 972 (B) 976 (C) 983 (D) 987 

 

123. Mahamaya Bala Sundri temple is located in which district of H.P. ? 
 (A) Chamba (B) Kullu (C) Sirmour (D) Solan 
     ..       ? 
 (A)  (B)  (C)   (D)  

 

124. Guma and Drang salt mines are located in which district of H.P. ? 
 (A) Shimla (B) Bilaspur (C) Hamirpur (D) Mandi 
      ..       ? 
 (A)  (B)  (C)  (D)  

 

125. Sobha Singh art gallery is located at which place in H.P. ? 
 (A) Naggar (B) Chamba (C) Sujanpur (D) Andretta 
     ..       ? 
 (A)  (B)  (C)  (D)  

 

126. Manimahesh fair is celebrated in which sub division of H.P. ? 
 (A) Rampur (B) Bharmour (C) Pooh (D) Udaipur 
   ..        ? 
 (A)  (B)   (C)  (D)  

 

127. Lama lake is located in which district of H.P. ? 
 (A) Chamba (B) Una (C) Kinnaur (D) Lahaul-Spiti 
   ..       ? 
 (A)  (B)  (C)   (D) - 

 

128. Dehar is a tributary of which river of H.P. ? 
 (A) Satluj (B) Ravi (C) Chenab (D) Beas 
  ..        ? 
 (A)  (B)   (C)   (D)   
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129. First recipient of Parshu Ram Award in H.P. was 
 (A) Dicky Dolma   (B) Suman Rawat 
 (C) Keshav Narayan  (D) Jai Dev Kiran 
     ..      
 (A)   (B)   (C)   (D)    

 

130. Which of the following district of H.P. has largest apple production ? 
 (A) Shimla (B) Sirmour (C) Kinnaur (D) Chamba 
 ..            ? 
 (A)  (B)   (C)   (D)   

 

131. Guler princely state was founded by 
 (A) Hari Chand   (B) Sibram Chand 
 (C) Datar Chand   (D) Alam Chand 
        – 
 (A)  (B)   (C)   (D)    

 

132. At which session of All India States People Conference – The Shimla Hill 
States Himalayan Riyasti Praja Mandal was formed ? 

 (A) Delhi Session  (B) Ludhiana Session 
 (C) Lucknow Session  (D) None of these 
               

    ? 
 (A)    (B)   
 (C)    (D)     

 

133. H.P. Compulsory Primary Education Act, was enacted in which year ? 
 ..          ? 
 (A) 1950 (B) 1951 (C) 1953 (D) 1956  

 

134. When did Dr. Y.S. Parmar become the Chief Minister of H.P. for the first time ? 
 (A) 24th March, 1952  (B) 1st July, 1956 
 (C) 1st November, 1966 (D) None of these 
 . ..    ..     ? 
 (A) 24 , 1952 (B) 1 , 1956 (C) 1 , 1966 (D)     

 

135. ‘Travels in the Himachal Province of Hindustan’ book is written by 
 (A) William Moorcraft  (B) Andrew Wilson 
 (C) J. Hutchinson  (D) D.N. Mazumdar 
 ‘     ’     
 (A)    (B)   
 (C) .    (D) ..   

 

136. Which Public Sector Unit of India recently exited from Sudan, after non-
payment of dues from the country ? 

                ,    
      ? 

 (A) NHPC (B) NTPC (C) SAIL (D) ONGC  
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137. Which country has recently banned Chinese goods after naming them 
products of ‘Forced labour’ ? 

 (A) India (B) USA (C) Russia (D) UK 
                  ‘ ’ 

   ? 
 (A)  (B) ... (C)  (D) .. 

 

138. Which Indian personality has been recently named as the first Indian 
celebrity voice Amazon’s Alexa ?  

 (A) Nawazuddin Siddique (B) Amitabh Bachchan 
 (C) Aamir Khan   (D) Sachin Tendulkar 
               

    ?  
 (A)    (B)   
 (C)     (D)   

 

139. When is the ‘International Literacy Day’ celebrated across the World every year ? 
 (A) September, 8 (B) September, 9 (C) September, 10 (D) September, 11 
   ‘  ’         ? 
 (A) 8  (B) 9  (C) 10   (D) 11  

 

140. India recently held a virtual meeting with which country on Maritime 
Security and Cooperation ? 

 (A) Sri Lanka (B) Nigeria (C) Brazil (D) Japan 
          -       

 ? 
 (A)  (B)   (C)  (D)  

 

141. Cobbler : Leather :: Carpenter ? 
 (A) Furniture (B) Wood (C) Hammer (D) Chair 
  :  ::  : ? 
 (A)  (B)  (C)  (D)  

 

142. If each of the letters in the English alphabet is assigned an even numerical 
value by giving A = 2, B = 4 and so on, then what would be the total value 
of the letters for the word ‘LADY’ when similarly coded ? 

             A = 2, B = 4 ....    
     ‘LADY’       ? 

 (A) 84 (B) 86 (C) 88 (D) 92 

 

143. Next term in the following number series : 
 2, 29, 38, 47, ? Will be 
        : 
 2, 29, 38, 47, ?  
 (A) 52 (B) 54 (C) 56 (D) 58 
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144. Shyam goes to 5 km in the North from his school. Now turning to the left, 
he goes to 10 km and again turns to left and goes to 5 km. How far he is 
from his school and in which direction ? 

 (A) 10 km, South from School (B) 10 km, North from School 
 (C) 10 km, West from School (D) 10 km, East from School 
     5         , 10     

   5                 ? 
 (A)   10   (B)   10   
 (C)   10   (D)   10    

 

145. If it was Saturday on December 17, 1899, then what will be the day on 
December 22, 1901 ? 

 (A) Friday (B) Saturday (C) Sunday (D) Monday 
   17, 1899   ,   22, 1901      ? 
 (A)   (B)   (C)   (D)   

 

146. The author of ‘Arthashastra’ was a contemporary of  
 (A) Chandragupta Maurya (B) Ashoka 
 (C) Chandragupta Vikramaditya (D) Samudragupta 
 ‘’       
 (A)      (B)   
 (C)     (D)   

 

147. Harshvardhana was defeated by  
 (A) Narsimhavarman  (B) Pulakesin II 
 (C) Firoz Shah Tughlaq (D) Alauddin Khilji 
     – 
 (A)     (B) –II  
 (C)     (D)    
 

148. Who was the last ruler of Lodi dynasty ? 
 (A) Bahlol Lodi   (B) Ibrahim Lodi 
 (C) Daulat Khan Lodi  (D) Sikandar Lodi 
        ? 
 (A)   (B)    (C)    (D)    

 

149. Prince Salim was the name of which emperor ? 
 (A) Babur (B) Humayun (C) Akbar (D) Jahangir 
        ? 
 (A)  (B)  (C)  (D)   

 

150. Who from the following leaders was not assassinated ? 
 (A) Mahatma Gandhi  (B) Liaqat Ali Khan 
 (C) Muhammad Ali Jinnah (D) Lord Louis Mountbatten 
          ? 
 (A)     (B)    
 (C)      (D)    
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151. Which writ is issued when the court finds that a particular office holder is 
not doing legal duty and thereby is infringing on the right of an individual ? 

                  
           /     ? 

 (A) Habeas Corpus (B) Mandamus (C) Prohibition (D) Quo Warranto  

 

152. Which Article of Indian Constitution provides for the employer to give 
maternity benefits to its employees ? 

 (A) Article 36 (B) Article 39 (C) Article 42 (D) Article 45 
              

   ? 
 (A)  36 (B)  39 (C)  42 (D)  45 

 

153. Parliament includes 
 (A) Vidhan Sabha and Rajya Sabha 
 (B) Vidhan Parishad and Lok Sabha 
 (C) Lok Sabha, Rajya Sabha and the President  
 (D) None of these 
      
 (A)       (B)       
 (C)  ,     (D)     

 

154. Tides are caused by the gravitational pull of the 
 (A) Earth on the Moon  (B) Earth on the Sun 
 (C) Sun and Moon on the Earth (D) None of these 
 -        
 (A)       (B)      
 (C)        (D)      

 

155. Winds blowing constantly in one direction in rocky deserts form 
 (A) Chimneys   (B) Mushroom rocks 
 (C) Yardangs   (D) None of these 
               
 (A)   (B)   (C)  (D)     

156. The density of population in any region is measured by numbers of 
 (A) People (B) Children (C) Families (D) Houses 
            
 (A)   (B)    (C)    (D)    

157. Which Indian state does not share international land border ? 
 (A) H.P. (B) U.P. (C) Bihar (D) M.P. 
            ? 
 (A) ..  (B) ..  (C)   (D) ..  

158. Which is the largest irrigation canal in India ? 
 (A) Yamuna Canal  (B) Indira Gandhi Canal 
 (C) Sirhind Canal  (D) Upper Bari Daob Canal 
          ? 
 (A)      (B)     
 (C)      (D)      
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159. Delhi gets winter rainfall due to  
 (A) South West Monsoon (B) North East Monsoon 
 (C) Western disturbances  (D) None of these 
          
 (A) -   (B) -   
 (C)     (D)     

 

160. Which is the first public sector corporation of independent India ? 
 (A) Hindustan Steel Corporation, Bhilai 
 (B) State Trading Corporation of India 
 (C) Food Corporation of India 
 (D) Damodar Valley Corporation  

            ? 

 (A)   ,  (B)      
 (C)     (D)    

 

161. What are the blood corpuscles that help to build up resistance against diseases ? 
 (A) Leucocytes (B) Monocytes (C) Neutrophils (D) Lymphocytes  

               ? 
 (A)  (B)  (C)  (D)  

 
 

162. An alloy used in making heating elements for electric heating devices is  
 (A) Solder (B) Alloy Steel (C) Nichrome (D) German Silver 
            – 
 (A)   (B)    (C)  (D)   

 

163. It is not possible to _______ the suffering. 
 (A) mitigate (B) masticate (C) instigate (D) propitiate  

 

164. Meaning of the idiom ‘To take people by storm’ is 
 (A) To put people in utter surprise (B) To captivate them unexpectedly 
 (C) To exploit people’s agitation (D) None of these  

 

165. Synonym of ‘Ostentatious’ is 
 (A) Noisy (B) Showy (C) Talkative (D) Wealthy  

 

166. One word substitution for ‘The study of ancient societies’ is 
 (A) History (B) Anthropology (C) Ethnology (D) Archaeology  

 

167. ‘’     
 (A)  +  (B)  +  (C)  +  (D)  +  

 

168. ‘’    
 (A)  (B)  (C)  (D)  

 

169. ‘’     
 (A)  (B)  (C)  (D)  

 

170. ‘’    
 (A)  (B)  (C)  (D)  

____________ 
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